	1. Which of the following structures is not found on the temporal bone?

A. Styloid process

B. Mastoid process

C. Temporal line

D. Mandibular fossa

2. Which of the following structures is not a continuation of Ligamentum nachae?

A. Posterior longitudinal ligament

B. Tectorial membrane

C. Supraspinous ligament

D. Interspinous ligament

3. Axons and Olfactory tract originate from what cells?

A. Purkinje

B. Mitral

C. Ganglion

D. Pyramidal

4. The vertebral artery enters the transverse foramen in the cervical spine at what level?

A. C-6

B. C-1

C. C-2

D. C-7

5. Where do muscle fibers of the diaphragm insert?

A. Central tendon

B. Lumbar TVP

C. Costal margin

D. Crura

6. Climbing fibers of the cerebellum originate in?

A. Olivary nucleus

B. Nucleus ambiguous

C. Peduncles

D. Nucleus solitarius

7. The lacrimal gland drains into what part of the nasal fossa?

A. Middle meatus( ethmoid

B. Superior meatus

C. Interior meatus

D. Sphenopalatine sulcus

8. The anterior and superior vertebral notches are located on what structures?

A. Vertebral bodies

B. TVP’s

C. Pars interarticularis

D. Pedicles


	9. The lower 4 ribs are depressed by which muscles?

A. External intercostalis( inspiration

B. Serratus posterior inferior

C. Internal intercostalis( expiration

D. Serratus( protracts scapula

10. The intermediolateral cells column which is located between T1—L-2 receives its innervation from which of the following?

A. Parasympathetic nerves

B. Sympathetic nerves

C. Recurrent meningeal

D. Anterior spinal

11. The gray rami communicants are made up of which of the following fibers?

A. Preganglionic parasympathetic

B. Postganglionic parasympathetic

C. Preganglionic sympathetic

D. Postganglionic sympathetic

12. The insertion of the Splenius capitis is located on which of the following structures?

A. Mastoid process

B. Ligamentum nuchae

C. EOP

D. TVP of the Cervical

13. Compression of an IVD is leased during which of the following movements?

A. Flexion

B. Extension

C. Rotation

D. Lateral flexion

14. Which of the following is not a Synovial joint?

A. Cora coclavicular

B. Sternoclavicular

C. Tempromandibular

D. Costotransverse

15. Which structure separates the two shallow grooves which transverse the superior edge of the 1st rib?

A. Carotid tubercle

B. Coronoid tuberosity

C. Neck

D. Scalene tubercle

16. Which of the following vertebra have paired costal facets and paired Demi facets?

A. T1

B. T4

C. C7

D. T11

	17. The femoral nerve innervates which structure?

A. Piriformis

B. Adductor longus

C. Gracilis

D. Vastus Lateralis ( look for any Vastus

18. Which of the following is a terminal branch of the posterior cord of the brachial Plexus?

A. Radial

B. Ulnar

C. Median

D. Musculocutaneous

19. A somite is derived from?

A. Sclerotome, mesoderm, myotome

B. Mesoderm, cartilage, bone

C. Vertebra, rib, myotome

D. Endoderm, ectoderm, mesoderm

20. Which of the following nerves innervates the superior upper lip?

A. Buccal VII

B. Mandibular V

C. Maxillary division of V

D. Inferior alveolar

21. Which of the following is not contiguous with the lateral sacrococcygeus ligament?

A. Posterior longitudinal ligament

B. Flaval ligament

C. Intrertransverse

D. Anterior longitudinal ligament

22. Through which of the following parts of the spinal cord does a reflex travel?

A. White matter

B. Pyramidal tract

C. Extrapyramidal tract

D. Gray matter

23. Fibrocartilage unites bone in which articulation

A. Symphysis

B. Suture

C. Saddle

D. Hinge

24. Which of the following muscles is a primary flexor of the lumbar spine?

A. Psoas major

B. External abdominal oblique

C. Rectus abdominis

D. Transverse abdominis


	25. The vertebral artery travels across a groove located on which of the following vertebrae?

A. C-1

B. C-2

C. C-6

D. C-7

26. Which of the following cells is a macrophage in the brain?

A. Astrocytes

B. Ependymal( produces CFS

C. Microglia

D. Oligodendrocytes

27. Which of the following sinuses drains directly into the internal jugular vein?

A. Transverse

B. Greater petrosal

C. Sigmoid

D. Straight

28. Which area of the lumbar spine is most responsible for lateral flexion?

A. T12—L1

B. L5—S1

C. L4—L5

D. T11—T12

29. From which embryological structure is the thymus derived?

A. 3rd pharyngeal pouch

B. 4TH brachial arch

C. Rathke’s pouch

D. 1st brachial arch

30. Which of the following motions does not close the IVF?

A. Extension

B. Lateral flexion

C. Rotation

D. Flexion

31. In what structure are hair cells of the ear located?

A. Saccule

B. Macula

C. Utricle

D. Membranous labyrinth

32. 2nd were fibers for sensation of facial pain, from which of the following tracks?

A. Spinothalamic

B. Trigeminothalamic

C. Corticospinal

D. Reticulospinal



	33. Which of the following dermatomes supplies the skin @ the level of the umbilicus?

A. T-10

B. T-7( xyphiod

C. T-4( nipple

D. T-9( just above umbilicus

34. A unilateral hemorrhage of the anterior cerebral artery causes a functional problem in which extremity?

A. Contralateral lower

B. Ipsilateral lower

C. Contralateral upper

D. Ipsilateral upper

NOTE( the entire lateral aspect of cerebreum except occipital lobe is supplied by the middle cerebral artery.

( lateral portion of cerebrum (motor) takes care of head to knee ( middle cerebral artery

( Median aspect of cerebrum (motor) takes care of knee down( anterior cerebral artery

( occipital lobe ( posterior cerebral artery.

35. Thus startled angle is at the transverse plane of which thoracic IVD?

A. First

B. Second

C. Third

D. Fourth

36. The superior articular facets of a typical lumbar vertebra are oriented in which direction?

A. Posterior

B. Anterior

C. Medially

D. Inferiorly blood

37. The extensor musculature of the spine receives its nerve supply through?

A. Dorsal root

B. Ventral root

C. Ventral primary rami

D. Dorsal primary rami ( all Extensor or musculature except Rhomboid (Dorsal scapular nerve) received nerve supply from dorsal primary rami

38. The posterior groove of the odontoid particulates with which ligaments?

A. Alar ( side

B. Capsular

C. Transverse

D. Apical( top
	39. The sacrotuberous ligament restriction which movement of the Pelvis?

A. Extension

B. Abduction 

C. Adduction

D. Flexion

40. If the nerve leading to the diaphragm was damaged pain would be referred to the?

A. Lower back

B. Stomach

C. Shoulder( also liver and gull bladder

D. Neck

41. The carotid tubercle is a feature of which cervical vertebra?

A. First

B. Second  

C. Sixth

D. Seventh

42. The vertebral artery passes through which of the following ligaments?

A. Posterior alanto-occipital

B. Alar

C. Anterior alanto-occipital

D. Alantoaxial

43. Which of the following bones makes up the lacrimal fossa?

A. Maxillary

B. Ethmoid

C. Frontal

D. Zygomatic

44. Which of the following is the most lateral erector spinae muscle?

A. Longissimus

B. Iliocostalis

C. Spinalis

NOTE( I Love Spinal ( from lateral to medial ( Iliocostalis, Longissimus, Spinalis.

45. Which of the following is part of the auditory tract?

A. Medial longitudinal fasciculus

B. Medial lemniscus

C. Trapezoid body

D. Cerebral pednucle

46. Which ligament forms part of the boundary of the vertebral canal?

A. Nuchal

B. Posterior longitudinal ligament

C. Anterior longitudinal ligament

	47. Which portion the brain is responsible for loss of short-term memory due to motion or trauma?

A. Mammillary

B. Uncus

C. Limbus( main emotional center, thirst, and hunger

D. Hippocampus

48. Which of the following arteries supplies blood to the motor speech area of the brain?

A. Anterior cerebral artery

B. Middle cerebral artery

C. Posterior cerebellar artery

D. Posterior cerebral artery

49. Which of the following goes through the foramen spinosum?

A. Middle meningeal artery( spin the middle

B. Anterior meningeal artery

C. Superior meningeal artery

D. Inferior meningeal artery

50. The sella Tunica is located on which bone?

A. Temporal

B. Frontal

C. Ethmoid

D. Sphenoid

51. Paralysis of which of the following nerves would cause medial deviation of the eye?

A. I

B. II

C. III

D. VI

NOTE( rectus muscles( go in the direction they say they are going to

( oblique muscles( Go in opposite direction they say they’re going to

( SO4 LR6 everything else 3
52. On which bone is the cribriform plate located?

A. Sphenoid

B. Maxillary

C. Ethmoid

D. Temporal

53. Skip

54.  The muscles of mastication are derived from?

A. Ectoderm of mouth

B. First brachial arch

C. Second brachial arch

D. 3rd brachial arch


	55. Which of the following structures contains type A motor nerve Axons?

A. Grey rami communicants

B. White rami communicants

C. Ventral root( motor the front

D. Dorsal root ( pleasure in the back

56. The semicircular canal develops as an outgrowth of the?

A. Cochlear

B. Typanum

C. Utricle

D. Saccule

57. Rods and cones of the retina synapse at what cells?

A. Ganglion

B. Horizontal 

C. Bipolar

D. Amacrine

58. Which of the following comprises the white rami communicuants?

A. Preganglionic sympathetic

B. Postganglionic sympathetic

C. Preganglionic parasympathetic

D. Postganglionic parasympathetic

59. Which vertebral structure forms the superior in inferior borders of the IVF?

A. Lamina

B. TVP’s

C. Pedicles

D. Bodies

60. The femoral nerve arises from the ventral rami of which spinal nerves?

A. T-12—L-1

B. L-2, L-3, L-4

C. L-5, S-1, S-2

D. S-3—S-4

61. Which of the following is an attachment for the splenius capitis muscle?

A. EOP

B. Atlas 

C. Mastoid process

D. Temporal process

62. The first cranial nerve passes through which of the following bones?

A. Ethmoid

B. Maxillary

C. Frontal

D. Sphenoid 

	63. Sensory cell bodies of spinal nerves are found in which of the following structures?

A. Ventral primary rami

B. Dorsal root ganglion

C. Dorsal horn of spinal cord

D. Dorsal primary ramus

64. If the glossopharyngeal nerve is damaged which gland will lose its function?

A. Submandibular( cranial nerve 7
B. Sublingual( cranial nerve 7
C. Lacrimal( cranial nerve 7
D. Parotid( cranial nerve 7 runs through here

65. Which of the following bones does not articulate with the temporal bone?

A. Occipital

B. Maxillary

C. Mandible

D. Sphenoid

66. Which of the following nerves does not serve gustatory function?

A. Trigeminal( pain and temperature from face

B. Vagus ( epiglottis

C. Glossopharyngeal ( anterior 1/3 of tongue 

D. Facial ( posterior 2/3 of tongue

67. Which of the following are efferent cerebellar nerve cells?

A. Golgi cells

B. Renshaw cells

C. Purkinje cells

D. Meynert cells

68. Which of the following structures is innervated by the perineal branch of the pudendal nerve?

A. Coccygeus

B. Pubococcygeus

C. Ischiococcygeus

D. Ischiocavernosus( maintains erection

69. The costal cartilage arch is formed by the joining of which ribs?

A. 1—4

B. 5—6

C. 7—10

D. 11—12


	70. From which embryonic structure is the notochord derived?

A. Ectoderm

B. Neural crest cells

C. Mesoderm

D. Schwann cells

71. Which ligament restricts rotation of the atlas axis joint?

A. Apical

B. Alar

C. Alanto-occipital

D. Transverse

72. Which of the following form the border of the lesser sciatic foramen?

A. Piriformis muscle

B. Sacroiliac ligament

C. Sacrotuberous ligament

D. Sacrococcygeal muscle

73. Which of the following muscles originates on the anterior aspect of the sacrum?

A. Iliopsoas

B. Iliacus

C. Quadratus lumborum

D. Piriformis

74. Which of the following is the neurological innervation of the internal dura of the EOP?

A. Maxillary

B. Mandibular

C. Ophthalmic

D. Spinal nerves

75. Which of the following cells is responsible for CFS production in the brain?

A. Arachnoid villi

B. Ependymay cells

C. Posterior chamber

D. Ciliary body

76. The major source of blood supply to the primary cortex is one artery?

A. Posterior cerebral artery

B. External carotid artery

C. Basilar artery

D. Internal carotid artery

77. Which of the following nerves forms the anterior division of the lumbar plexus?

A. L1—L3

B. L2—L5

C. L4—S2

D. S2—S4



	78. Which of the following ligaments is a continuation of the supraspinous ligament?

A. Posterior longitudinal ligament

B. Ligamentum nuchae

C. Intertransverse

D. Interspinous

79. The lumbar cistern ends in what location?

A. L-1

B. L-2

C. S-1

D. S-2

80. What makes up a somite?

A. Notochord

B. Ectoderm

C. Endoderm

D. Mesoderm

81. What tract is best for conscious proprioception?

A. Fasciculus cuneatus

B. Spinocerebellar

C. Lateral spinothalamic

D. Ventral spinothalamic

82. Which of the following is the location of the Medulla oblongata?

A. Telecephalon

B. Metencephalon

C. Myelencephalon

D. Mesencephalon

83. Which of the following is location of the ponds?

A. Telecephalon

B. Metencephalon

C. Myelencephalon

D. Mesencephalon

84. The cerebrum is derived from?

A. Telecephalon

B. Metencephalon

C. Myelencephalon

D. Mesencephalon

85. Which cranial nerves is Parasympathetic?

A. Trigeminal

B. Abducens

C. Facial

D. Trochlear

86. The fluid from the eye empties into?

A. Vitreous humor

B. Aqueous humor

C. Iris

D. Canal of Schlemn
	87. Taste buds to the anterior 2/3 of the tongue are supplied by which nerve?

A. Glossopharyngeal

B. Vagus

C. Facial

D. Hypoglossal

88. What holds the menisci in place during flexion and extension of the need?

A. Cruciate ligament

B. Coronary ligament

C. Collateral ligament

D. Patella

89. From what track does the secondary neuron transmit pain from the face?

A. Trigeminal

B. Spinothalamic

C. Rubrospinal

D. Vestibulospinal

90. Unconscious proprioception is carried by which track of spinal cord?

A. Lateral spinothalamic

B. Ventral spinothalamic( pressure and touch

C. Posterior columns

D. Spinocerebellar

91. Which nerve supplies the anterior compartment of the leg?

A. Superficial peroneal

B. Deep peroneal

C. Saphenous

D. Sural

92. Which of the following cranial nerves originates from the mid brain?

A. II

B. III

C. V

D. VII

You will have to write in what is what on the drawing.  This is the midbrain & Pons.
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	93. Which spinal levels of our joints of Luschka located?

A. L-5—S1

B. T12—L1

C. T3—T4

D. C6—C7( only in the cervical

94. Which of the following muscles when directly contacted will protrude the mid brain?

A. Masseter

B. Temporalis

C. Lateral pterygoid

D. Medial pterygoid

95. Which of the following serous glands are found in the Olfactory Mucosa?

A. Littre’s( male urethra

B. Bowman’s

C. Brunner’s( duodenum

D. Ceruminous( ear

96. Which of the following tracks descends from the superior colliculus to the spinal cord?

A. Tegmentospinal

B. Reticulospinal

C. Rubrospinal

D. Tectospinal

97. Which of the following muscles elevates and retracts the tongue?

A. Stylglossus

B. Hyoglossus( depresses and draws to the side

C. Genoglossus

D. Genohyoid

98. The 2nd cervical spinal nerve axis between which two vertebra?

A. C0—C1

B. C1—C2

C. C2—C3

D. C0—C2
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